Proceedings of the Jangieon Mathematical Society 22 (2019), No. 2. pp. 357 - 363

SOME IDENTITIES OF FULLY DEGENERATE BELL POLYNOMIALS ARISING FROM DIFFERENTIAL EQUATIONS

SUNG-SOO PYO 1 AND TAEKYUN $\rm KIM^2$

ABSTRACT. Recently, degenerate, partly degenerate and fully degenerate Bell polynomials are studied. In this paper, we study the differential equations on fully degenerate polynomials. From this differential equations, we derive some identities of the fully degenerate Bell polynomials.

1. Introduction

In combinatorial mathematics, the *Bell polynomials*, denoted by $B_n(x)$, are used in the study of set partitions. The Bell polynomials are defined by the generating function to be

$$e^{x(e^t-1)} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}$$

where $B_n(1) = B_n$ are called *n*-th Bell numbers. As is well known, the B_n is equal to the number of partitions of *n*-set(see [1, 2, 4, 5, 9, 10, 18]).

The Stirling numbers of second kind are defined by the generating function, for nonnegative integer k,

$$\frac{(e^t - 1)^k}{k!} = \sum_{n=k}^{\infty} S_2(n,k) \frac{t^n}{n!} (\ [14]).$$

where $S_2(n,k)$ are called the Stirling numbers of the second kind.

Recently, many mathematicians have studied $(1 + \lambda t)^{\frac{1}{\lambda}}$, which is called the degenerate exponential function (see [3, 7, 10–17]). If λ goes to zero, then $(1 + \lambda t)^{\frac{1}{\lambda}}$ approaches to e^t . Throughout in this article, we write $e_{\lambda}(t)$ for the degenerate exponential function.

From the degenerate exponential function, the degenerate Stirling numbers of the second kind, denoted by $S_{2,\lambda}(n,k)$, are defined by

$$\frac{(e_{\lambda}(t)-1)^k}{k!} = \sum_{n=k}^{\infty} S_{2,\lambda}(n,k) \frac{t^n}{n!}.$$

It is well known that $S_{2,\lambda}(n,k)$ converges to $S_2(n,k)$ if λ goes to 0. The degenerate Stirling numbers of the second kind can be found in the [11,14].

In [10], the degenerate Bell numbers are introduced and studied as follows.

²⁰¹⁰ Mathematics Subject Classification. 11B68, 11S40, 11S80.

Key words and phrases. Bell polynomial, degenerate Bell polynomial, differential equations.

 $^{^{2}}$ corresponding author.

S-S Pyo and T. Kim

$$(1+\lambda)^{\frac{x}{\lambda}(e_{\lambda}(t)-1)} = \sum_{n=0}^{\infty} Bel_{n,\lambda}(x)\frac{t^n}{n!}.$$

In [12], T. Kim, D. S. Kim and D. V. Dolgy introduced the partly degenerate Bell polynomials

$$e^{x(e_{\lambda}(t)-1)} = e^{x((1+\lambda t)^{\frac{1}{\lambda}}-1)} = \sum_{n=0}^{\infty} bel_{n,\lambda}(x)\frac{t^n}{n!}.$$

From the definition of partly degenerate Bell numbers, they gave some identities between several special numbers and those polynomials. In [17], they studied the degenerate Daehee numbers, and obtained identities arising from differential equations.

In this paper, we study the differential equations on fully degenerate polynomials. From this differential equations, we derive some identities of the fully degenerate Bell polynomials.

2. Identities for the fully degenerate Bell polynomials

Throughout in this article, for positive integer n, we denote $(x)_{n,\lambda}$ for the generalized falling factorial $x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$. We use $\binom{\lambda}{n} = \frac{(\lambda)n}{n!}$ for generalized binomial coefficient. This give us that

$$(1+\lambda t)^{\frac{1}{\lambda}} = \sum_{n=0}^{\infty} (1)_{n,\lambda} \frac{t^n}{n!}$$

In [7], D. Dolgy et al. defined the *fully degenerate Bell polynomials*, denoted by $B_{n,\lambda}(x)$, by the generating function to be

$$e_{\lambda}(x(e_{\lambda}(t)-1)) = (1+\lambda x((1+\lambda t)^{\frac{1}{\lambda}}-1))^{\frac{1}{\lambda}}$$

= $\sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{t^{n}}{n!}.$ (2.1)

The definition of fully degenerate Bell polynomials (2.1) shows the following identity easily

$$\lim_{\lambda \to 0} (1 + \lambda x ((1 + \lambda t)^{\frac{1}{\lambda}} - 1))^{\frac{1}{\lambda}} = e^{x(e^t - 1)}.$$
(2.2)

The equation (2.2) says that $\lim_{\lambda \to 0} B_{n,\lambda}(x) = B_n(x)$.

358

From the definition of fully degenerate Bell polynomials, they gave the identities (see $\left[7\right]$)

$$B_{n,\lambda}(x) = \sum_{l=0}^{n} (1)_{l,\lambda} S_{2,\lambda}(n,l) x^{l}$$

= $\sum_{l=0}^{n} \sum_{m=0}^{l} S_{1}(l,m) S_{2,\lambda}(n,l) \lambda^{l-m} x^{l}$
= $\sum_{l=0}^{\infty} \sum_{m=0}^{l} {l \choose m} (-1)^{l-m} (1)_{l,\lambda}(m)_{n,\lambda} \frac{x^{l}}{l!}.$ (2.3)

The following can be obtained by differentiating the equation (2.1). Let $F(t,x) = \sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{t^n}{n!}$. Then k-th differentiation gives us the following

$$\frac{\partial^{k}}{\partial t^{k}}F(t,x) = \frac{\partial^{k}}{\partial t^{k}} \left(\sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{t^{n}}{n!} \right)$$

$$= \sum_{n=k}^{\infty} B_{n,\lambda}(x) \frac{t^{n-k}}{(n-k)!}$$

$$= \sum_{n=0}^{\infty} B_{n+k,\lambda}(x) \frac{t^{n}}{n!}.$$
(2.4)

Let us observe that

$$\frac{1}{1+\lambda x(e_{\lambda}(t)-1)} = \sum_{j=0}^{\infty} (-1)^{j} \lambda^{j} j! x^{j} \frac{(e_{\lambda}(t)-1)^{j}}{j!}$$
$$= \sum_{j=0}^{\infty} (-1)^{j} \lambda^{j} j! x^{j} \sum_{m=j}^{\infty} S_{2,\lambda}(m,j) \frac{t^{m}}{m!}$$
$$= \sum_{m=0}^{\infty} \sum_{j=0}^{m} (-1)^{j} \lambda^{j} j! x^{j} S_{2,\lambda}(m,j) \frac{t^{m}}{m!}$$
(2.5)

and we easily get the identity

$$(1+\lambda t)^{\frac{1-\lambda}{\lambda}} = \sum_{k=0}^{\infty} (1)_{k+1,\lambda} \frac{t^k}{k!}.$$
 (2.6)

From (2.5) and (2.6), we have

$$\frac{\partial F}{\partial t} = \frac{(1+\lambda x(e_{\lambda}(t)-1))^{\frac{1}{\lambda}}}{1+\lambda x(e_{\lambda}(t)-1)} x(1+\lambda t)^{\frac{1}{\lambda}-1} \\
= \sum_{l=0}^{\infty} B_{l,\lambda}(x) \frac{t^{l}}{l!} \sum_{m=0}^{\infty} \sum_{j=0}^{m} (-1)^{j} \lambda^{j} j! x^{j} S_{2,\lambda}(m,j) \frac{t^{m}}{m!} x \sum_{k=0}^{\infty} (1)_{k+1,\lambda} \frac{t^{k}}{k!} \\
= \sum_{l=0}^{\infty} B_{l,\lambda}(x) \frac{t^{l}}{l!} \sum_{m=0}^{\infty} \sum_{k=0}^{m} \sum_{j=0}^{m} \binom{m}{k} (-1)^{j} \lambda^{j} j! x^{j+1} S_{2,\lambda}(k,j) (1)_{m-k+1,\lambda} \frac{t^{m}}{m!} \\
= \sum_{n=0}^{\infty} \sum_{m=0}^{n} \sum_{k=0}^{m} \sum_{j=0}^{m} \binom{n}{m} \binom{m}{k} B_{n-m,\lambda}(x) (-1)^{j} \lambda^{j} j! x^{j+1} S_{2,\lambda}(k,j) (1)_{m-k+1,\lambda} \frac{t^{n}}{n!}.$$
(2.7)

From the equations (2.5) and (2.7), we have the following theorem.

Theorem 2.1. For any real λ and nonnegative integer n,

$$B_{n+1,\lambda}(x) = \sum_{m=0}^{n} \sum_{k=0}^{m} \sum_{j=0}^{m} \binom{n}{m} \binom{m}{k} B_{n-m,\lambda}(x)(-1)^{j} \lambda^{j} j! x^{j+1} S_{2,\lambda}(k,j)(1)_{m-k+1,\lambda}.$$
(2.8)

Let λ tend to zero in the equation (2.8), then, only j = 0 is possible from λ^{j} in the equation (2.8). And we get k = 0 from $S_{2,\lambda}(k - j, j)$. Finally, we get the following identity

$$B_{n+1}(x) = x \sum_{m=0}^{n} \binom{n}{m} B_m(x).$$

3. Differential equation using the fully degenerate Bell polynomials

In order to write this paper briefly, let T denote $((1 + \lambda t)^{\frac{1}{\lambda}} - 1)$ and F = F(t, x) the fully degenerate Bell polynomials. That is,

$$F = F(t, x) = (1 + \lambda T x))^{\frac{1}{\lambda}}.$$
(3.1)

We observe that

$$\frac{\partial F}{\partial x} = T(1 + \lambda T x)^{\frac{1-\lambda}{\lambda}}.$$
(3.2)

By induction we see that

$$\frac{\partial^N F}{\partial x^N} = (1)_{N,\lambda} T^N (1 + \lambda T x)^{\frac{1 - N\lambda}{\lambda}}.$$
(3.3)

360

Since

$$(1 + \lambda x (e_{\lambda}(t) - 1))^{\frac{1-N\lambda}{\lambda}} = \sum_{l=0}^{\infty} \frac{\left(\frac{1-N\lambda}{\lambda}\right)_{l}}{l!} \lambda^{l} x^{l} (e_{\lambda}(t) - 1)^{l}$$
$$= \sum_{l=0}^{\infty} \left(\frac{1-N\lambda}{\lambda}\right)_{l} \lambda^{l} x^{l} \sum_{m=l}^{\infty} S_{2,\lambda}(m,l) \frac{t^{m}}{m!} \qquad (3.4)$$
$$= \frac{1}{(1)_{N,\lambda}} \sum_{n=0}^{\infty} \sum_{l=0}^{n} (1)_{N+l,\lambda} x^{l} S_{2,\lambda}(n,l) \frac{t^{n}}{n!},$$

and

$$T^{N} = ((1+\lambda t)^{\frac{1}{\lambda}} - 1)^{N} = N! \sum_{i=N}^{\infty} S_{2,\lambda}(i,N) \frac{t^{i}}{i!}.$$
(3.5)

From the equations (3.4) and (3.5), equation (3.3) becomes

$$(1)_{N,\lambda}T^{N}(1+\lambda Tx)^{\frac{1-N\lambda}{\lambda}} = (1)_{N,\lambda}N!\sum_{i=N}^{\infty}S_{2,\lambda}(i,N)\frac{t^{i}}{i!}\frac{1}{(1)_{N,\lambda}}\sum_{n=0}^{\infty}\sum_{l=0}^{n}(1)_{N+l,\lambda}x^{l}S_{2,\lambda}(n,l)\frac{t^{n}}{n!} = N!\sum_{n=N}^{\infty}\sum_{i=0}^{n-N}\sum_{l=0}^{i}\binom{n}{i}(1)_{N+l,\lambda}S_{2,\lambda}(n-i,N)S_{2,\lambda}(i,l)x^{l}\frac{t^{n}}{n!}.$$
(3.6)

We get the following by n differentiations of the equation F with respect to x.

$$\frac{\partial^{N} F}{\partial x^{N}} = \frac{\partial^{N}}{\partial x^{N}} \sum_{n=0}^{\infty} B_{n,\lambda}(x) \frac{t^{n}}{n!}$$

$$= \sum_{n=N}^{\infty} \left(\frac{\partial^{N}}{\partial x^{N}} B_{n,\lambda}(x) \right) \frac{t^{n}}{n!}.$$
(3.7)

From the equation (3.6) and (3.7), we have the following identity.

Theorem 3.1. For any real λ and nonnegative integers n and N, with $n \geq N$,

$$\frac{\partial^N}{\partial x^N} B_{n,\lambda}(x) = N! \sum_{i=0}^{n-N} \sum_{l=0}^i \binom{n}{i} (1)_{N+l,\lambda} S_{2,\lambda}(n-i,N) S_{2,\lambda}(i,l) x^l.$$
(3.8)

From the equation (2.3), we have

$$\frac{\partial^{N}}{\partial x^{N}} B_{n,\lambda}(x) = \sum_{l=0}^{n-N} (1)_{l+N,\lambda} S_{2,\lambda}(n,l+N)(l+N)_{N} x^{l}$$

$$= \sum_{l=0}^{n-N} \sum_{m=0}^{l+N} S_{1}(l+N,m) S_{2,\lambda}(n,l+N) \lambda^{l+N-m}(l+N)_{N} x^{l} \qquad (3.9)$$

$$= \sum_{l=0}^{\infty} \sum_{m=0}^{l+N} {l+N \choose m} (-1)^{l+N-m} (1)_{l+N,\lambda} (m)_{n,\lambda} \frac{x^{l}}{l!}.$$

The equations (3.8) and (3.9) give the following identities.

Theorem 3.2. For any real λ and nonnegative integers n and N,

$$N! \sum_{i=0}^{n-N} \sum_{l=0}^{i} \binom{n}{i} (1)_{N+l,\lambda} S_{2,\lambda}(n-i,N) S_{2,\lambda}(i,l) x^{l}.$$

$$= \sum_{l=0}^{n-N} (1)_{l+N,\lambda} S_{2,\lambda}(n,l+N) (l+N)_{N} x^{l}$$

$$= \sum_{l=0}^{n-N} \sum_{m=0}^{l+N} S_{1}(l+N,m) S_{2,\lambda}(n,l+N) \lambda^{l+N-m} (l+N)_{N} x^{l}$$

$$= \sum_{l=0}^{\infty} \sum_{m=0}^{l+N} \binom{l+N}{m} (-1)^{l+N-m} (1)_{l+N,\lambda} (m)_{n,\lambda} \frac{x^{l}}{l!}.$$

Let, for brevity, G be a differentiable function with respect to t and $F = F(t) = G^{\frac{1}{\lambda}}$. Then we get the following differential equation

$$\lambda GF^{(1)} = G^{(1)}F. \tag{3.10}$$

The following equation is obtained by taking the derivative to both sides of the above equation (3.10).

$$\lambda GF^{(2)} + \lambda G^{(1)}F^{(1)} = G^{(1)}F^{(1)} + G^{(2)}F$$

After taking N-th derivative of both sides of the equation (3.10), we have

$$\lambda \sum_{k=0}^{N} \binom{N}{k} G^{(N-k)} F^{(k+1)} = \sum_{k=0}^{N} \binom{N}{k} G^{(N-k+1)} F^{(k)}.$$
 (3.11)

The equation (3.11) give us a following differential equation.

Theorem 3.3. Let G be any differentiable function with respect to t and $F = F(t) = G^{\frac{1}{\lambda}}$, then F is a solution of the following differential equation.

$$\lambda \sum_{k=0}^{N} \binom{N}{k} G^{(N-k)} F^{(k+1)} = \sum_{k=0}^{N} \binom{N}{k} G^{(N-k+1)} F^{(k)}.$$
 (3.12)

where $F^{(0)} = F$ and $F^{(k)} = \frac{\partial^k F}{\partial t^k}$ for any nonnegative integer k.

Acknowledgements

We would like to thank the referees for their comments and suggestions which improved the original manuscript in its present form.

This research was supported by Basic Science Research Program through the National Research Foundation of Korea(NRF) funded by the Ministry of Education(2018R1D1A1B07049996).

References

- 1. E. T. Bell, Exponential polynomials, Ann. of Math. (2) 35 (1934), 258-277.
- J. Brillhart, Mathematical Notes: Note on the Single Variable Bell Polynomials, Amer. Math. Monthly 74 (1967), no. 6, 695–696.
- L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, Utilitas Math. 15 (1979), 51– 88.
- L. Carlitz, Some arithmetic properties of the Bell polynomials, Bull. Amer. Math. Soc. 71 (1965), 143–144.
- 5. L. Carlitz, Arithmetic properties of the Bell polynomials, J. Math. Anal. Appl. 15 (1966), 33–52.
- 6. L. Comtet, Advanced combinatorics: the art of finite and infinite expansions (translated from the French by J.W. Nienhuys), Dordrecht and Boston: Reidel, 1974.
- 7. D. D. Dolgy, D. S. Kim, T. Kim, J. Kwon On fully degenerate Bell numbers and polynomials, preprint.
- L.-C Jang, T. Kim, Some identities of Bell polynomials, J. Comput. Anal. Appl. 20 (2016), no. 3, 584–589.
- D. S. Kim, T. Kim, Some identities of Bell polynomials, Sci. China Math. 58 (2015), no. 10, 2095–2104.
- D. S. Kim, T. Kim, On degenerate Bell numbers and polynomials, Revista de la Real Academia de Ciencias, Fisicas y Naturales, Serie A. Mathematicas 2017m 1-12, DOI:10,1007/s13398-016-0304-4.
- T. Kim, D. S. Kim, Degenerate Laplace transform and degenerate gamma function, Russ. J. Math. Phys. 24 (2017), no. 2, 241–248.
- T. Kim, D. S. Kim, D. V. Dolgy, On partially degenerate Bell numbers and polynomials, Proc. Jangjeon Math. Soc. 20 (2017), no. 3, 337–345.
- T. Kim, D. S. Kim, L. -C. Jang, H. -I. Kwon, Extended degenerate Stirling numbers of the second kind and extended degenerate Bell polynomials, Util. Math. 106 (2018), 11–21.
- T. Kim, A note on degenerate Stirling polynomials of the second kind, Proc. Jangjeon Math. Soc. 20 (2017), no. 3, 319–331.
- T. Kim, Degenerate complete Bell polynomials and numbers, Proc. Jangjeon Math. Soc. 20 (2017), no. 4, 533–543.
- T. Kim, G. -W. Jang, A note on degenerate gamma function and degenerate Stirling number of the second kind, Adv. Stud. Contemp. Math. (Kyungshang) 28 (2018), no. 2, 207–214.
- S.-S. Pyo, T. Kim, S.-H. Rim, Identities of the degenerate Daehee numbers with the Bernoulli numbers of the second kind arising from nonlinear Differential equation, J. Nonlinear Sci. Appl., 10 (2017), 6219–6228.
- S. Roman, *The umbral calculus*, Pure and Applied Mathematics, 111. Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, 1984.
- Y. Simsek, Identities on the Changhee numbers and Apostol-type Daehee polynomials, Adv. Stud. Contemp. Math. (Kyungshang) 27 (2017), no. 2, 199–212.

 1 Department of Mathematics Education, Silla University, Busan, 46958, Republic of Korea

Email address: ssoopyo@gmail.com

 2 Department of Mathematics, Gwangwoon University, Seoul, Republic of Korea $\mathit{Email}\ address:\ \texttt{tkkim@kw.ac.kr}$